£1 Sk (EIREHR)
HWAEEFOSM  URETHARSESFHDE (EREBRREESE)
XEFE : BHN6FE

HIESS 19 % <88 () k=
1 BB 15, 450, 000
2 ZEIFT™ 22, 500, 000
3 Jbxtrh 24, 050, 000

HWHESOEN | UHEBIMARSESHEE GREARTSZE)
XEFE BHNG6EE

BIEES 195k <HiEE () B2
1 ERRIPEAS] 7, 100, 00O
2 Jbxtrh 26, 900, 00O
3 R 6FIRRXES 10, 000, 00O

HWAEEFOSM | URETHARSESFHIE (BEEBHKSE)
XEFE BHN6HEE

BIESS Y <88 () HmE

1 ChIRM 11, 250, 000

WAEEOBHN  LHEIMNREXRSHIE BHENSEIBEHE)
XEFE BHN6HEE

BIESS Y5 <88 () HmE

1 Jbxtrh 73, 930, 000

WHESDEN U HEIMARSXESHUDE (BHHIER - ENERERSH)
XEFE BHN6HEE

BIESS X195k <88 (FD) k=
1 B 2, 250, 000
2 ElFT™ 19, 450, 000
3 Jbrtmh 28, 464, 000
4 FHIGFITHARXES 2, 690, 000
5 7 EITHHRXES 1, 650, 000
6 REEZEMXOKBEERHEEG 1, 523, 000
7 HI=EREHEEHTEREY Y — 1, 800, 000




HWAEEFOSN  UIRETHARSESFWHIE (EENEEREREIETTIVEE)

XEFE : BHN6FE

HIESS 19 % <88 () k=
1 HRESHITU TP —A 2, 098, 000
2 R 12, 805, 000

HWAEEFOSH  UIRETHARBXESFWHIE (HBREIRMERSH)

XEFE : BHN6FE

BIEES 195k <gE () W2
1 BB 1, 397, 000
2 B 1, 522, 400
3 EPRIPPYE 2, 996, 000
4 ElFT™ 2, 953, 000
5 Jbxtrh 18, 462, 000

HWAEEFOSH  UIRETHARBXESFWHIE (RMWERERERSH)

XEFE  BHN6HFE

HIESS 219 5% g8 (F) k=
1 R 21, 212, 000
2 ZEIFT™ 5, 000, 000
3 Jbxtrh 19, 609, 000




